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#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2009

#### Annotated Stata Log File: Homework #7

#### December 13, 2009

#### In this file I give the Stata commands I used to produce

#### the key to Homework #6. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
-----------------------------------------------------------------------------

#### Reading in the data: I had saved it previously
---------------------------------------------------------------------------------------------------------

      name:  <unnamed>

       log:  z:\documents\my documents\teach\courses\b517\f09\hw7Stata.log

  log type:  text

 opened on:  13 Dec 2009, 11:04:54

. infile ptid tx age sex weight height durdis stage splen bili alb alkphos alt ptsec chol plt dlcoBsln dl

> coFnl dlcoMin stopdrug obsprog progress obsdeath death using "z:\documents\my documents\teach\datasets\

> 2005.09.26\mtxotcm.txt"

. drop in 1

(1 observation deleted)

#################### 

#### Problem 1: Comparing censoring distribution across treatment groups by
####           Generating plot of stratified KM curves
####           Estimating a restricted mean

####           Estimating 25th, 50th, and 75th percentiles

####           KM estimates at each year 1 – 8

####           Hazard ratio estimates from proportional hazards.

#################### 

####
Create indicator of censoring
. g cens= 1 - death

####
I would rather have time in years than days

. replace obsdeath= obsdeath/365.25

(265 real changes made)

. replace obsprog= obsprog/ 365.25

(265 real changes made)

####
“setting” the survival variables

. stset obsdeath cens

     failure event:  cens != 0 & cens < .

obs. time interval:  (0, obsdeath]

 exit on or before:  failure

------------------------------------------------------------------------------

      265  total obs.

        0  exclusions

------------------------------------------------------------------------------

      265  obs. remaining, representing

      249  failures in single record/single failure data

 1892.476  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  9.949349

####
KM plots with number at risk tabled at bottom, marks at censored observations, treatment arms

####   distinguished by color and line type, appropriate titles

. sts graph, by(tx) risktable(1 2 3 4 5 6 7 8 9) censor(single) plot1opts(color(red) lp(dash)) plot2opts(

> color(blue) lp(solid)) t1title("Censoring Distribution") xtitle("Time from Randomization (years)")

         failure _d:  cens

   analysis time _t:  obsdeath

####
Obtaining the “restricted mean” (the area under the KM curve)

. stci, by(tx) rmean

         failure _d:  cens

   analysis time _t:  obsdeath

             |    no. of  restricted

tx           |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    7.135839      .2033736      6.73723    7.53444

           1 |       132    7.524113      .1903655        7.151    7.89722

-------------+-------------------------------------------------------------

       total |       265    7.328388      .1399047      7.05418     7.6026

####
Obtaining quantile estimates

. stci, by(tx) p(25)

         failure _d:  cens

   analysis time _t:  obsdeath

             |    no. of 

tx           |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    6.264203      .1988008      5.50856    6.48323

           1 |       132    6.521561      .1511785      6.19302    6.91855

-------------+-------------------------------------------------------------

       total |       265    6.428473      .1080064       6.1191    6.54346

. stci, by(tx) p(50)

         failure _d:  cens

   analysis time _t:  obsdeath

             |    no. of 

tx           |  subjects         50%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    7.709788       .237623      7.01985    8.03833

           1 |       132    8.186173      .2558639      7.54552    8.57221

-------------+-------------------------------------------------------------

       total |       265    7.895962      .1661919      7.52361    8.18617

. stci, by(tx) p(75)

         failure _d:  cens

   analysis time _t:  obsdeath

             |    no. of 

tx           |  subjects         75%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133     8.99384      .1683398      8.52567    9.27584

           1 |       132    9.108829      .1042488      8.80493     9.3744

-------------+-------------------------------------------------------------

       total |       265    9.067761      .1112727      8.82683    9.25667

. sts list, by(tx) at(1 2 3 4 5 6 7 8 9)

         failure _d:  cens

   analysis time _t:  obsdeath

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

tx=0 

       1       130        4              0.9699    0.0148     0.9219    0.9886

       2       126        4              0.9398    0.0206     0.8833    0.9695

       3       122        3              0.9171    0.0239     0.8553    0.9532

       4       118        4              0.8868    0.0275     0.8193    0.9302

       5       111        4              0.8561    0.0306     0.7837    0.9057

       6       101        9              0.7855    0.0360     0.7046    0.8467

       7        76       23              0.6035    0.0433     0.5132    0.6823

       8        54       22              0.4265    0.0441     0.3393    0.5107

       9        32       22              0.2495    0.0387     0.1776    0.3278

tx=1 

       1       128        5              0.9621    0.0166     0.9114    0.9841

       2       126        1              0.9545    0.0182     0.9015    0.9793

       3       122        3              0.9316    0.0220     0.8726    0.9638

       4       120        1              0.9239    0.0231     0.8631    0.9583

       5       116        2              0.9084    0.0252     0.8442    0.9469

       6       107        9              0.8373    0.0325     0.7613    0.8907

       7        85       21              0.6710    0.0416     0.5821    0.7452

       8        66       16              0.5415    0.0445     0.4505    0.6239

       9        35       31              0.2832    0.0408     0.2064    0.3648

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stcox tx

         failure _d:  cens

   analysis time _t:  obsdeath

Iteration 0:   log likelihood = -1133.2019

Iteration 1:   log likelihood = -1132.8632

Iteration 2:   log likelihood = -1132.8632

Refining estimates:

Iteration 0:   log likelihood = -1132.8632

Cox regression -- Breslow method for ties

No. of subjects =          265                     Number of obs   =       265

No. of failures =          249

Time at risk    =  1892.476385

                                                   LR chi2(1)      =      0.68

Log likelihood  =   -1132.8632                     Prob > chi2     =    0.4105

------------------------------------------------------------------------------

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

          tx |   .9005613   .1145928    -0.82   0.410     .7017806    1.155647

------------------------------------------------------------------------------

#################### 

#### Problem 2: Comparing survival distribution across treatment groups by

####           Generating plot of stratified KM curves

####           Estimating a restricted mean

####           (Not estimating 25th, 50th, and 75th percentiles because undefined)

####           KM estimates at each year 1 – 8

####           Hazard ratio estimates from proportional hazards.

#################### 

. stset obsdeath death

     failure event:  death != 0 & death < .

obs. time interval:  (0, obsdeath]

 exit on or before:  failure

------------------------------------------------------------------------------

      265  total obs.

        0  exclusions

------------------------------------------------------------------------------

      265  obs. remaining, representing

       16  failures in single record/single failure data

 1892.476  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  9.949349

. sts graph, by(tx) risktable(1 2 3 4 5 6 7 8 9) censor(single) plot1opts(color(red) lp(dash)) plot2opts(

> color(blue) lp(solid)) t1title("Time to Death Distribution") xtitle("Time from Randomization (years)")

         failure _d:  death

   analysis time _t:  obsdeath

. stci, by(tx) rmean

         failure _d:  death

   analysis time _t:  obsdeath

             |    no. of  restricted

tx           |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    9.629634(*)   .1187987      9.39679    9.86247

           1 |       132    9.530313(*)   .1286384      9.27819    9.78244

-------------+-------------------------------------------------------------

       total |       265    9.595352(*)   .0879175      9.42304    9.76767

(*) largest observed analysis time is censored, mean is underestimated

. sts list, by(tx) at(1 2 3 4 5 6 7 8)

         failure _d:  death

   analysis time _t:  obsdeath

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

tx=0 

       1       130        0              1.0000         .          .         .

       2       126        0              1.0000         .          .         .

       3       122        1              0.9920    0.0080     0.9446    0.9989

       4       118        0              0.9920    0.0080     0.9446    0.9989

       5       111        3              0.9661    0.0167     0.9122    0.9872

       6       101        1              0.9572    0.0188     0.9001    0.9820

       7        76        2              0.9344    0.0243     0.8662    0.9684

       8        54        0              0.9344    0.0243     0.8662    0.9684

tx=1 

       1       128        0              1.0000         .          .         .

       2       126        1              0.9921    0.0078     0.9454    0.9989

       3       122        1              0.9840    0.0112     0.9375    0.9960

       4       120        1              0.9758    0.0138     0.9268    0.9921

       5       116        2              0.9591    0.0179     0.9045    0.9828

       6       107        0              0.9591    0.0179     0.9045    0.9828

       7        85        1              0.9485    0.0206     0.8883    0.9766

       8        66        3              0.9095    0.0296     0.8303    0.9527

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stcox tx, robust

         failure _d:  death

   analysis time _t:  obsdeath

Iteration 0:   log pseudolikelihood = -84.828858

Iteration 1:   log pseudolikelihood = -84.753272

Iteration 2:   log pseudolikelihood = -84.753269

Refining estimates:

Iteration 0:   log pseudolikelihood = -84.753269

Cox regression -- no ties

No. of subjects      =          265                Number of obs   =       265

No. of failures      =           16

Time at risk         =  1892.476385

                                                   Wald chi2(1)    =      0.15

Log pseudolikelihood =   -84.753269                Prob > chi2     =    0.6975

------------------------------------------------------------------------------

             |               Robust

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

          tx |   1.215749   .6109735     0.39   0.697     .4540186    3.255476

------------------------------------------------------------------------------

#################### 

#### Problem 3: Comparing progression free survival distribution across treatment groups by

####           Generating plot of stratified KM curves

####           Estimating a restricted mean

####           Estimating 25t percentile

####           KM estimates at each year 1 – 8

####           Hazard ratio estimates from proportional hazards.

#################### 

. stset obsprog progress

     failure event:  progress != 0 & progress < .

obs. time interval:  (0, obsprog]

 exit on or before:  failure

------------------------------------------------------------------------------

      265  total obs.

        0  exclusions

------------------------------------------------------------------------------

      265  obs. remaining, representing

       58  failures in single record/single failure data

 1892.476  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  9.949349

. sts graph, by(tx) risktable(1 2 3 4 5 6 7 8 9) censor(single) plot1opts(color(red) lp(dash)) plot2opts(

> color(blue) lp(solid)) t1title("Progression Free Survival") xtitle("Time from Randomization (years)")

         failure _d:  progress

   analysis time _t:  obsprog

. stci, by(tx) rmean

         failure _d:  progress

   analysis time _t:  obsprog

             |    no. of  restricted

tx           |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133      8.8662(*)   .2030722      8.46819    9.26421

           1 |       132    8.675526(*)   .2055171      8.27272    9.07833

-------------+-------------------------------------------------------------

       total |       265    8.780028(*)   .1449768      8.49588    9.06418

(*) largest observed analysis time is censored, mean is underestimated

. stci, by(tx) p(25)

         failure _d:  progress

   analysis time _t:  obsprog

             |    no. of 

tx           |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133     9.34976             .      7.84942          .

           1 |       132    8.542094      .5572097      6.91855          .

-------------+-------------------------------------------------------------

       total |       265    8.574948      .4836755      7.70431          .

. sts list, by(tx) at(1 2 3 4 5 6 7 8)

         failure _d:  progress

   analysis time _t:  obsprog

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

tx=0 

       1       130        2              0.9848    0.0107     0.9406    0.9962

       2       126        0              0.9848    0.0107     0.9406    0.9962

       3       122        2              0.9689    0.0153     0.9192    0.9882

       4       118        4              0.9369    0.0216     0.8777    0.9679

       5       111        5              0.8967    0.0271     0.8287    0.9387

       6       101        4              0.8634    0.0308     0.7894    0.9128

       7        76        3              0.8336    0.0342     0.7533    0.8896

       8        54        2              0.8051    0.0386     0.7159    0.8688

tx=1 

       1       128        2              0.9846    0.0108     0.9397    0.9961

       2       126        2              0.9691    0.0152     0.9196    0.9883

       3       122        3              0.9457    0.0199     0.8895    0.9738

       4       120        2              0.9301    0.0225     0.8700    0.9630

       5       116        3              0.9065    0.0257     0.8411    0.9458

       6       107        6              0.8587    0.0309     0.7851    0.9086

       7        85        4              0.8226    0.0345     0.7428    0.8797

       8        66        5              0.7669    0.0402     0.6766    0.8350

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stcox tx, robust

         failure _d:  progress

   analysis time _t:  obsprog

Iteration 0:   log pseudolikelihood = -301.21772

Iteration 1:   log pseudolikelihood = -300.91544

Iteration 2:   log pseudolikelihood = -300.91543

Refining estimates:

Iteration 0:   log pseudolikelihood = -300.91543

Cox regression -- no ties

No. of subjects      =          265                Number of obs   =       265

No. of failures      =           58

Time at risk         =  1892.476385

                                                   Wald chi2(1)    =      0.60

Log pseudolikelihood =   -300.91543                Prob > chi2     =    0.4382

------------------------------------------------------------------------------

             |               Robust

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

          tx |   1.228142    .325552     0.78   0.438     .7304909    2.064821

------------------------------------------------------------------------------

#################### 

#### Problem 4: Comparing distribution of time to stopping drug across treatment groups by

####           Generating plot of stratified KM curves

####           Estimating a restricted mean

####           Estimating 25th, 50th, and 75th percentiles

####           KM estimates at each year 1 – 8

####           Hazard ratio estimates from proportional hazards.

#################### 

. g obsdrug= stopdrug / 365.25

. g stopped= 1

. replace stopped=0 if obsdrug==obsdeath

(25 real changes made)

. table stopped

----------------------

  stopped |      Freq.

----------+-----------

        0 |         25

        1 |        240

----------------------

. stset obsdrug stopped

     failure event:  stopped != 0 & stopped < .

obs. time interval:  (0, obsdrug]

 exit on or before:  failure

------------------------------------------------------------------------------

      265  total obs.

        0  exclusions

------------------------------------------------------------------------------

      265  obs. remaining, representing

      240  failures in single record/single failure data

 1543.685  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  8.958248

. sts graph, by(tx) risktable(1 2 3 4 5 6 7 8 9) censor(single) plot1opts(color(red) lp(dash)) plot2opts(

> color(blue) lp(solid)) t1title("Time on Study Treatment") xtitle("Time from Randomization (years)")

         failure _d:  stopped

   analysis time _t:  obsdrug

. stci, by(tx) rmean

         failure _d:  stopped

   analysis time _t:  obsdrug

             |    no. of  restricted

tx           |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    6.044015      .2006385      5.65077    6.43726

           1 |       132    6.132402      .2183759      5.70439    6.56041

-------------+-------------------------------------------------------------

       total |       265    6.090081      .1482605       5.7995    6.38067

. stci, by(tx) p(25)

         failure _d:  stopped

   analysis time _t:  obsdrug

             |    no. of 

tx           |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    5.292265       .191584      4.49281    5.49213

           1 |       132    5.259411      .3168854       3.2115    5.64271

-------------+-------------------------------------------------------------

       total |       265    5.292265      .1827943      4.79124    5.48118

. stci, by(tx) p(50)

         failure _d:  stopped

   analysis time _t:  obsdrug

             |    no. of 

tx           |  subjects         50%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    6.548939      .2611824      5.93018    6.94593

           1 |       132    7.099247      .3246909      6.20671    7.44695

-------------+-------------------------------------------------------------

       total |       265    6.666667        .22039      6.23682    7.16222

. stci, by(tx) p(75)

         failure _d:  stopped

   analysis time _t:  obsdrug

             |    no. of 

tx           |  subjects         75%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       133    7.915127      .1628906      7.47981    8.11773

           1 |       132    8.021903       .114664      7.75086    8.21355

-------------+-------------------------------------------------------------

       total |       265    7.983573      .0708796      7.75086    8.12047

. sts list, by(tx) at(1 2 3 4 5 6 7 8)

         failure _d:  stopped

   analysis time _t:  obsdrug

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

tx=0 

       1       128        5              0.9624    0.0165     0.9120    0.9842

       2       118        7              0.9088    0.0251     0.8450    0.9472

       3       111        7              0.8544    0.0309     0.7813    0.9046

       4       106        3              0.8309    0.0329     0.7546    0.8853

       5        98        5              0.7907    0.0359     0.7096    0.8514

       6        71       24              0.5911    0.0443     0.4990    0.6720

       7        50       21              0.4138    0.0448     0.3255    0.4998

       8        28       22              0.2280    0.0384     0.1575    0.3065

tx=1 

       1       123        9              0.9314    0.0221     0.8723    0.9637

       2       114        9              0.8627    0.0301     0.7910    0.9112

       3       109        4              0.8322    0.0326     0.7564    0.8861

       4       106        2              0.8167    0.0338     0.7392    0.8732

       5       100        4              0.7851    0.0360     0.7041    0.8463

       6        77       19              0.6325    0.0428     0.5424    0.7097

       7        61       13              0.5233    0.0449     0.4320    0.6068

       8        31       29              0.2701    0.0410     0.1935    0.3524

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stcox tx, robust

         failure _d:  stopped

   analysis time _t:  obsdrug

Iteration 0:   log pseudolikelihood = -1087.7685

Iteration 1:   log pseudolikelihood = -1087.3899

Iteration 2:   log pseudolikelihood = -1087.3899

Refining estimates:

Iteration 0:   log pseudolikelihood = -1087.3899

Cox regression -- Breslow method for ties

No. of subjects      =          265                Number of obs   =       265

No. of failures      =          240

Time at risk         =  1543.685148

                                                   Wald chi2(1)    =      0.75

Log pseudolikelihood =   -1087.3899                Prob > chi2     =    0.3873

------------------------------------------------------------------------------

             |               Robust

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

          tx |   .8932803   .1166169    -0.86   0.387     .6916146    1.153749

------------------------------------------------------------------------------

#################### 

#### Problem 5: Comparing survival distribution across groups defined by baseline bilirubin

####           Generating plot of stratified KM curves for three groups

####           Estimating a restricted mean within strata

####           Estimating 25th, 50th, and 75th percentiles within strata

####           KM estimates at each year 1 – 8

####           Hazard ratio estimates from proportional hazards

####                (I do this three ways: binary variable, continuous bili, continuous logbili

####                In real life, I typically log transform bili when working with liver disease)

#################### 

. tabstat bili, stat(n mean sd min q max)

    variable |         N      mean        sd       min       p25       p50       p75       max

-------------+--------------------------------------------------------------------------------

        bili |       265  .6986415  .4124691        .1        .4        .6        .8       2.6

----------------------------------------------------------------------------------------------

. g hibili= bili

. recode hibili 1/max=2 0.5/1=1 min/0.5=0

(hibili: 264 changes made)

. tabstat bili, by(hibili) stat(n mean sd min q max)

Summary for variables: bili

     by categories of: hibili 

  hibili |         N      mean        sd       min       p25       p50       p75       max

---------+--------------------------------------------------------------------------------

       0 |        70  .2804286   .104956        .1        .2        .3        .4       .43

       1 |       144  .6671528  .1279514        .5        .6        .7        .8        .9

       2 |        51  1.361569   .374547         1       1.1       1.3       1.5       2.6

---------+--------------------------------------------------------------------------------

   Total |       265  .6986415  .4124691        .1        .4        .6        .8       2.6

------------------------------------------------------------------------------------------

. table death hibili

----------------------------

          |      hibili     

    death |    0     1     2

----------+-----------------

        0 |   67   134    48

        1 |    3    10     3

----------------------------

. stset obsdeath death

     failure event:  death != 0 & death < .

obs. time interval:  (0, obsdeath]

 exit on or before:  failure

------------------------------------------------------------------------------

      265  total obs.

        0  exclusions

------------------------------------------------------------------------------

      265  obs. remaining, representing

       16  failures in single record/single failure data

 1892.476  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  9.949349

. sts graph, by(hibili) risktable(1 2 3 4 5 6 7 8 9) censor(single) plot1opts(color(red) lp(dash)) plot2o

> pts(color(blue) lp(solid)) plot3opts(color(green) lp(dot)) t1title("Time to Death") xtitle("Time from R

> andomization (years)")

         failure _d:  death

   analysis time _t:  obsdeath

. sts list, by(hibili) at(1 2 3 4 5 6 7 8)

         failure _d:  death

   analysis time _t:  obsdeath

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

hibili=0 

       1        70        0              1.0000         .          .         .

       2        69        0              1.0000         .          .         .

       3        66        1              0.9848    0.0150     0.8973    0.9979

       4        64        1              0.9697    0.0211     0.8842    0.9923

       5        63        0              0.9697    0.0211     0.8842    0.9923

       6        60        0              0.9697    0.0211     0.8842    0.9923

       7        46        1              0.9499    0.0285     0.8511    0.9838

       8        31        0              0.9499    0.0285     0.8511    0.9838

hibili=1 

       1       141        0              1.0000         .          .         .

       2       137        1              0.9929    0.0071     0.9504    0.9990

       3       134        1              0.9855    0.0102     0.9433    0.9964

       4       134        0              0.9855    0.0102     0.9433    0.9964

       5       127        3              0.9626    0.0164     0.9124    0.9843

       6       116        0              0.9626    0.0164     0.9124    0.9843

       7        89        2              0.9429    0.0212     0.8831    0.9726

       8        68        3              0.9060    0.0292     0.8294    0.9492

hibili=2 

       1        48        0              1.0000         .          .         .

       2        47        0              1.0000         .          .         .

       3        45        0              1.0000         .          .         .

       4        41        0              1.0000         .          .         .

       5        38        2              0.9500    0.0345     0.8145    0.9873

       6        33        1              0.9236    0.0424     0.7814    0.9747

       7        27        0              0.9236    0.0424     0.7814    0.9747

       8        22        0              0.9236    0.0424     0.7814    0.9747

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. recode hibili 1=0 2=1

(hibili: 195 changes made)

. stcox hibili, robust

         failure _d:  death

   analysis time _t:  obsdeath

Iteration 0:   log pseudolikelihood = -84.828858

Iteration 1:   log pseudolikelihood = -84.806854

Iteration 2:   log pseudolikelihood = -84.806806

Refining estimates:

Iteration 0:   log pseudolikelihood = -84.806806

Cox regression -- no ties

No. of subjects      =          265                Number of obs   =       265

No. of failures      =           16

Time at risk         =  1892.476385

                                                   Wald chi2(1)    =      0.04

Log pseudolikelihood =   -84.806806                Prob > chi2     =    0.8328

------------------------------------------------------------------------------

             |               Robust

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      hibili |   1.146265   .7411429     0.21   0.833     .3227912    4.070504

------------------------------------------------------------------------------

. stcox bili, robust

         failure _d:  death

   analysis time _t:  obsdeath

Iteration 0:   log pseudolikelihood = -84.828858

Iteration 1:   log pseudolikelihood = -84.771498

Iteration 2:   log pseudolikelihood = -84.771267

Iteration 3:   log pseudolikelihood = -84.771267

Refining estimates:

Iteration 0:   log pseudolikelihood = -84.771267

Cox regression -- no ties

No. of subjects      =          265                Number of obs   =       265

No. of failures      =           16

Time at risk         =  1892.476385

                                                   Wald chi2(1)    =      0.20

Log pseudolikelihood =   -84.771267                Prob > chi2     =    0.6569

------------------------------------------------------------------------------

             |               Robust

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

        bili |   1.237922    .594852     0.44   0.657     .4826915    3.174801

------------------------------------------------------------------------------

. g logbili= log(bili)

. stcox logbili

         failure _d:  death

   analysis time _t:  obsdeath

Iteration 0:   log likelihood = -84.828858

Iteration 1:   log likelihood = -84.458223

Iteration 2:   log likelihood = -84.455919

Iteration 3:   log likelihood = -84.455919

Refining estimates:

Iteration 0:   log likelihood = -84.455919

Cox regression -- no ties

No. of subjects =          265                     Number of obs   =       265

No. of failures =           16

Time at risk    =  1892.476385

                                                   LR chi2(1)      =      0.75

Log likelihood  =   -84.455919                     Prob > chi2     =    0.3878

------------------------------------------------------------------------------

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

     logbili |   1.435217   .6167779     0.84   0.400     .6181837    3.332096

------------------------------------------------------------------------------

. disp 1.435217^log(2),   .6181837^log(2),   3.332096^log(2)

1.2845972 .71649591 2.3031391

. log close

      name:  <unnamed>

       log:  z:\documents\my documents\teach\courses\b517\f09\hw7Stata.log

  log type:  text

 closed on:  13 Dec 2009, 11:46:24

---------------------------------------------------------------------------------------------------------
